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Problem 1 (20pt) o2 gl sl E5hA 2

f(xy, w0, x3) = 323 + 223 4 422 + 61129 + STox3 + 122103 + Ty + 8o + 923 + 10

(1.1, 10pt) | AZE?

—-1.0
(12, 10pt) 2712 x0 = | 0.0 | oA A=stel, S48 p = 0,052 7T BASPEL A% HEokod x1,x0, x5 T8
0.0

a7} Hagke Bolrhea Selstar?



2-g-5) Bt

(2.1, 10pt) 7}=32] B4 U! and U2?
(2.2, 10pt) % 0 ?
(2.3, 10pt) BAAF S ZATSE AL

(2.4, 10pt) &7 A0} AL 3 AU ?



Problem 3 (40pt) o}2]} 2o] 30171 5 x 7 o]u] A o] Tste] Thg} 2L 2717 BEZA AAHE St

(=) Kev] N o] R en) New)
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3.1,10pt) Ad| 0 | 0 | 0 | & HZE s=22

)

S S 241 L. ol 0] Sitj7] & Shal Hiolol A2 05 ARSIt

SENRE!
(8.2,10pt) A | -1 | 0 | 1 | & EF s=22 285 A1}E 2 A Q. o|rf 0] Qt)7]& ot Ho]o] AR 05 Ag-3ich.
(o1

(3.3, 10pt) 3.12] A}of 09] Tith7] 511 3 x 3 AT E 7121 BE s=12 =7 (max pooling) 5}2}

(3.4, 10pt) 3.22] A7to] 09] BT~ 5121 3 x 3 HbATE 7} 1L HE s=12 2|7 (max pooling) 5}a}



